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Line 1: To calculate the total amo
Multiply the amount subject to wit
592-B by the interest amount of P
   
256,000.00 (Amount subject to w
x           .60 (Partner #1’s interest 
153,600.00 (Amount subject to 
 

Example #2B:  Partner #1 
nt partner with a 60 percent interest
 

nter Partner #1’s information in 
he Recipient area. 

ter Partnership B’s information in
 Withholding agent area. 

unt subject to withholding:  
hholding on Partnership B's form 
artner #1.   

ithholding on Partnership B’s 592-B) 
in Partnership B) 
withholding for Partner #1) 

Line 2: Enter the credit allocated to Partner #1. 
 
17,920.00 (Total amount withheld from Partnership B) 
x         .60 (Partner #1’s interest in Partnership B) 
10,752.00 (Total CA tax withheld for this partner) 
 


